MODEL QUESTION PAPER
2nd TERMINAL EXAMINATION
(SESSION-2021-22)

Sub : Political Science
Class-XII
(Hindi & English version)

Time : 3 hrs. M.M. 50

@)

(i)

(ii)

Teell AU e 379 TGl H 3 |
Candidates are required to give answers in their own words as far
as practicable.

Y Y3 & 3k 3Tk g feu & |

Marks alloted to each question as indicated against it.

ferore frder -

Special Instructions :

it g s1fvemd ¥ 1

All questions are compulsory.

1 3ieh dlel 999 < 3T fashed 9 T |

Choose the correct answer given below in each question of 1 mark.
2 3fehl aTel URAT o ST ST 40-45 I 1 § |

Answer of 2 marks questions should be between 40-45 words.
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(iv) 3 3Tehi aTcl T o I TTHT 60-75 T<I H < |
Answer of 3 marks questions should be between 60-75 words.

(v) 5 3Tehi aTel 9T h IR ATHT 150-180 T H < |
Answer of 5 marks questions should be between 60-75 words.

(vi) 6 3Tehi aTct TeI oh ST TTHT 210-230 I H < |
Answer of 6 marks questions should be betweeen 210-230 words.

(vil) Covid-19 % R IEAHT H 30% 1 el i TE ¢ |
30% reduction in syllabus his been done due to covid-19.

-k
TS T
Part-A
(Objective Type Questions)

1. I91 1% 10 W & | FAfafed ucie 797 T 3id 1 & | 31U
IR fosheq fed s @ € | 9 9 el Tk weT ® 1 3 | wet
foremeg =i ferd | 1x10=10
Question 1 contains 10 parts. Each of the following questions is of

1 mark. You are given four options, only one of which is correct.
Write the correct option among these.
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() TSte Te-G e FHei ol fhd gl M @ SFd § 2
CIREIEELE] (W) ke e
(1) Tere wwiar (%) FeE-—7 gt

By what other name is Rajiv Gandhi-Longowal Pact known ?
(a) Punjab Accord (b) Tashkent Agreement
(c) Shimla Agreement (d) Nehru-Noon Pact.

(i) WReTE ST WTel o1 €T forg o g8 ?
() 1979 (@) 1980
(1) 1981 (1) 1982
In which year was the Bhartiya Janata Party established ?
(a) 1979 (b) 1980
(c) 1981 (d) 1982
(iily TIHT TTRAC TS hl TATIAT el G5 ?
() 1998 (@) 2002
(1) 2004 (=) 2009
When was the United Progressive Alliance established ?
(a) 1998 (b) 2002
(c) 2004 (d) 2009
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(iv)

HRAT TS T SAThalel THAT ohel g1 AT ?
() 1999 (@) 2000
(1) 2001 (%) 2002

When did the terrorist attack on the Indian Parliament happen ?

(a) 1999 (b) 2000
(¢) 2001 (d) 2002

(v) fora warees Wi & {eAeE FEi 8 2
() =pin () St
(1) <A () ufE

(V1)

Where is the headquarters of the World Health Organization situ-
ated?

(a) New york (b) Geneva
(c) London (d) Paris
YRA § I 1hT0 i Y& Fel g3 2
(F) 1991 (@) 1992
() 1993 (1) 1994

When did globalization start in India ?
(a) 1991 (b) 1992
(c) 1993 (d) 1994
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(vii) TIHT T T ohl TITIAT el G5 7

(av_) 24 W, 1945 ('@) 24 W, 1947
("T) 24 W, 1949 (’5[) 24 W, 1955
When was U.N.O. founded ?

(a) 24 October, 1945 (b) 24 October, 1947
(c)) 24 October, 1949 (d) 24 October, 1955

(vil)) T G 31fren <9l | smifefer nifafaferi s aret sut &1 &=

(1)

FEd T ?
(F) IR-ULF HIAT (&) TG-S hrgl
(1) FAR-CIMA FHAT () 70 9 Fis 81

What is a company that runs economic activities in more than one
country, called ?

(a) Trans-National company (b) Multi National Company
(¢) Inland Company (d) None of these

ST e el fe § 2

(%) rerrg ()

(T) TR (%) B

Where is the International Court of Justice located ?

(a) Kathmandu (b) Moscow
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(c) Dhaka (d) Hague
(x) TTTER SIS ohel 3T AT ?

() 2000 (@) 2002

() 2004 (&) 2006

When did the Godhra incident happen ?

(a) 2000 (b) 2002
(c) 2004 (d) 2006

2. I 3 Sl hic o 9 @ e &l - (1x5=5)
i (37) wieH ()

() e o 37 RS HIPETI)

(i) TG U AT 1974

(iii)y 9/11 Rt BT IERE=IcT D]

(iv) WA oh1 Y&l TTHTI] TLIRT0T G G 3IET
(v) STidfeh TL&T < O § o ST
Match Column A with Column B

Column (A) Column (B)
(1) Meaning of security (1) Communalism
(i) India supports 1974
(1) 9/11 incident of disarmament
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(iv) India’sfirstnucleartest ~ Freedom from danger

(v) Barrier to internal security America

3. Tmfafaa ygaio w1 samydes U 9 ugaier & o o fai
T Y9I oh IS :- (1x5=5)
1989 ¥ wRa H ‘Feigy "o’ #1 ygfa 3ca— €1 wi § | e
Toe 9 1y THt gue 9 & e yfafafy weq o feeft i T
TSI T i TI% SgHA U9 A &1 | ARIHT WA TS o
gfaffy ae 8 11989 | Htell WIRE 1 & A9 §T & | 37 AT
T ToRhET i Teh TSTIaeh o1 oh! TI% SIgHd UTed Ta1 g31 o7 | a2
341 TE frig Huc stfad o o ot | 1989 & 9aTq HRdH™
TSI H YRR ohl A6 ¥ A < i 91 foenfid g3 | SR
I STEY | FHefA <A1 AsTifren STRerdr sl S 2aT g |

(%) WRA | FRig GOE ol &3 foh a8 € g8 2
(@) Tl Sac @ Y R A | 2

() IR gUe % fafAfy get w1 e g ?

(=) el g % I R gL ?

(¥) TTHR 6T g < § 3119 =11 90 § 2

Read the following passage carefully and answer the questions given
at the end of'the passage :

Hung parliament is trending in India since 1989. A hung parliament
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means a parliament in which no one political party has a clear ma-

jority in the representative house. Lok Sabha is the representative

house of the Indian Parliament. Elections to the Ninth Lok Sabha

were held in 1989. No single political party got a clear majority in

these elections, and similarly a hung parliament came into existence.

After 1989 the practice of supporting the government from outside

developed in Indian politics. Supporting the govenment from out-

side gives rise to political instability.

(@)  Inwhichyear Hung Parliament came into existence in India ?

(b) What do you understand by Hung Parliament ?

(c)  What is the name of the House of Representative of the In-
dian Parliament ?

(d) When were the ninth Lok Sabha elections held ?

(e)  What do you mean by outside support to the government ?
HT-9g
QEEIUICCR S D)

Part-B (Subjective Type Questions)
ST AT a1’ @ 379 9 T € 2

What do you understand by ‘Operation Blue Star’ ? 2
forueRT STETer & 3179 @ |ETd © 2
What do you understand by Chipko Movement ? 2

119



6. THARI TR ' ?
What is Amnesty International ?
7. ‘fcH THET F T ?
What is ‘Bottom Trawling’ ?
8. WIS A1 S-SRI U 379 1 qHed & ?
What do you understand by Social or. Mass Movement ?
9. &Teh &ferg W AR fawr ?
Write a note on ‘Protective Regionalism ?
10. feror Tfern < wHeT qEA A o1 i Y 2
Describe the main challenges facing South Asia ?
11. 3 sTfdfer Hifd 1991 wt Y& fawroarsii 1 v &Y 2
Describe the salient features of the New Economic Policy 1991 ?
12. TSR] & Y& BRI 1 fTRgele 90 &Y 2

Describe in detail the main causes of globalization ?
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